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Which one of the following principles is laid down in the case of Rajesh Kant Roy vs. Shanti Debi? 

a) Principles of Part Performance 

(b) Principles of Lis Pendens 
(c) Principles of Vested interest 
(d) Principles of Contingent interest 

8. Legal terminology 'Res Nullius' is used for 

(a) property of certain person (a) Hfa5 uTG fRIEid (a) faf af fT f 
(6) ownerless property 

(c)property of corporation 
Ad) None of the above 

(c) fa rf fa 
(d) T T 

2. yf 3T 3eta4 ai TRT 51, 3ej * 
Within the meaning of Section 51 of TP Act, the 

transferee 
(a is not entitled to the value of improvements 

{6) is entitied to the value of improvements 

.Which one of the following is not the essential 

element of sale? 

(a) Seller and buyer (a) faa Y 

(b) fTfaei b) Without consideration 
()has conditional entitlement to the vaBue of 

improvements 
(c)Transfer of ownership 
(d) None of the above (d) 

(d) None of the above (d)R TE T 
3. When transfer of property by the owner is 7. Match list-I with list-ll and select the correct answer 

dissented under Section 35 of Transfer of Property, 

under which circumstances compensation should 

be given to disappointed transferee? 

using the code given below the lists 

List 
(1) Section21 

List 
(A) Sale (A) Ta 

(8) A 

TRT 21 
(1) Where the transfer is gratuitous and the (1) E 3TRT 3TTTE5 3IT 3/TR5 

(B) Marshaling (2) Section 122 
(2) aT 122 

transferor has, before the election, died or (C) Gift (3) Section 54 
(C) 3) ETi S4 

otherwise become incapabie of making a fresh (D) Contingent interest (4) Section 81 
T (D) FH a 4) N 81 

transfer. TT Code 

(2) Where the transfer is gratuitous and the (a) A-1, B-2, C-3, D-4 (b) A4, 8-3, C-2, D-1 
(a)A-1, B-2, C-3, D-4 (b) A4, 8-3, C-2, D-1 

transferor is, before the election, alive. (c) A-1, B-4, C-3, D-2 d) A-3, B-4, C-2, D-1 
(c)A-1, B-4, C-3, D-2 

F4 R 3 1882 T 12, 
(d) A-3, B-4, C-2, D-1 

(3) When the transfer is for consideration and the 
8. Under which of the following conditions, Section 12 

transferor has, before the election died. 

(4) When the transfer is for consideration and the of the Transfer of Property Act, 1882 is not 

transferor is, before the election, alive. applicable? 

a) Where the transfer is by the way of Lease. 
Select the correct answer 

(a) 1,2, 3 and 4 
(c)Only 1, 2, 3 

(6) zad 2, 3, 4 (a) 1,2, 3 RT 4 

(c) a 1,2, 3 
(6) Where the transfer is by the way of exchange. 

(c) Where the transfer is by the way of gift. 
(6) Only 2, 3, 4 

d) Only 1, 3, 4 (d) 1, 3, 4 (d) 3TROT E T (d) Where the transfer is by the way of sale. 
4 Match list-I with list-l and select the correct answer 

9. R Sf, 1882 sT 137 9.Which of the following instruments have been 

excluded by the application of Section 137 of the 

Transfer of Property Act, 1882? 

using the code given below -

List 

(A) Doctrine of Subrogation (A) TRYT I aia 
(B) HH NEd 
(C) T fXIETT 

(B) Doctrine of Consideration Select the correct answer using the code glven 

below-(C) Doctrine of Accumulation (1) ET 
(1) Stocks 

(2) Shares 
(D) Doctrine of Lis pendens (2) 

List-
(3) Debentures (3) T3 

(1) Section 17 TPA (1) TRT 17 HY SRT 3fEfAY4 
(2) ERI 52 F GTRUT 3efHYA 
(3) ERT 61 FAT AKU 3TAfAy4 
(4) TRT 92 FHT SRT HTUAYH 

Code-(2) Section 52 TPA 
(a) 1.2 sR3 F (6) 1 sir 2 
(c) 2 sR 3 (d) 1 3 3 

3) Section 61 TPA la) All 1, 2, and 3 (6) Only 1 and 2 

(4) Section 92 TPA (c) Only 2 and 3 (d) Only 1 and 3 
10. Which one of the following Section of Transfer of Code 

{a) A-4, B-3, C-1, D-2 (a) A-4, B-3, C-1, D-2 (6) A-4, B-3, C-2, D-1 
Property Act relates to 'oral transfer? (b) A-4, B-3, C-2, D-1 

(c) A-1, B-2, C3, D-4 (C) A-1, B-2, c-3, D-4 (d) A-3, B-2, C-1, D-4 

(a) Section 5 (b) Section 7 (b) RT 7 (d) A-3, B-2, C-1, D-4 a 
(c) TRT S 

TRT 
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14. Match list-I with list-ll and select the correct answer 11. Matchlist-I with list-ll and select the correct answer 

using the code given below the lists- using the code given below the lists -

List-List- List-l 

(A) Fraudulent transfer (A) eT 3 T 
(A) Hoiding over (1) Mortgage 

(A) 37fAerr (1) (B) Election when necessary (B) aa 4 
(B) Universal donee (2) Gift 

(2) (C) Rule against perpetuity (C) IT7AI fE fAaH 
(3) Lease 

(B) T 3TETT 

(C) Redemption 
) YgET (D) Conditional transfer (D) HTA TR 

(C) 
(D) Purchases (4) Sale 

(D) 3 (4) fas List-
Code 

(1) Section 14 TPA (1) aR1 14 H TRT 3af 

aA-3, B-2, C-1, D-4 (b) A-2, 8-3, C-4, D-1 (2) Section 35 TPA (2) aTRT 35 H T AfAn 
(a) A-3, B-2, C-1, D-4 (b) A-2, B-3, C-4, D-1 

()A-4, B-1, C2, D-3 (d) A-1, 8-4, C3, D-2 (3) ETRT 25 TT 3ff (c) A-4, B-1, C2, D-3 (d) A-1, B-4, C-3, D-2 (3) Section 25 TPA 

(4) Section 53 TPA (4) TRT 53 TRT TA4 
12. Match list-i with list-il and select the correct answer 

Code 
using the code given below the lists-

(a) A-2, B-4, C-1, D-3 6) A-4, B-2, C-1, D-3 (a) A-2, B-4, C-1, D-3 (b) A4, B-2, C-1, D-3 

List 
() A-4, B-2, c-3, D-1 (d) A-1, B-2, c-3, D-4 (c)A-4, B-2, C-3, D-1 (d) A-1, B-2, C-3, D-4 

(A) T YT 
(8) RTd 3TRT 

(A) Part performance 

15. Assertion (A): Transfer in perpetuity is allowed for 15. 3afaA (A): T T Y MTaT 
(B) Conditional Transfer 

(C) Appointment of receiver (C) fRear yfT the benefit of public. 

(D) Implied contracts by mortgagor (D) e at ETRT fàafeia Fifdar Reason (R): Welfare of public at large is above the 

List- welfare of individual. 

(1) eTRT 65 FTi 3iCTRUT TA4 (a) A 3tRR Z sTT R, A E 2TET (1) Section 65 TPA 
Ma) A & R both are true and R is the correct 

(2) Section 53A TPA (2) eTRT 53A IHT TRT 3tE H 

(3) eTRT 69A sTRT HTAYH 
explanation of A 

(3) Section 69A TPA (b) A 3RR TTS A R,A TET 
(b) A & R both are true but R is not the correct 

(4) Section 25 TPA (4) TRT 25 uf zRUT zfaf explanation of A 

Code (c) A is true but R is false (c) A H K R H 

(a) A-2, B-3, C-4, D-1 (b) A-3, B-4, C-2, D-1 (a) A-2, B-3, c-4, D-1 (b) A-3, B-4, C-2, D-1 (d) Ris true but A is false (d) R IR TA HT T 
(c) A-2, B-1, C-3, D-4 d) A-2, B-4, C-3, D-1 (c) A-2, B-1, c.3, D-4 (d) A-2, B-4, C-3, D-1 

16. Which one of the following Section of the Indian 16. NA TIS 3fM4, 1872 afafea 
13. Which of the following pair is not correctly 

Evidence Act, 1872 is related with the 'Presumption 

matched? 
as to electronic agreements'? 

(a) rT 3TRT fHT GIT F eTRT 6 Tfr (b) RT 85C (a) TRT 81A (a) What may be transferred-Section 6 of TPA (a) Section 81A (b) Section 85C 

(c) Section 88A d) Section 85A (c) eRT 8SA (d) RT 85A 
(6) Oral transfer - Section 9 of TPA (b) HifY5 TRT - TRT 9 HT 3TRUT 

17. Under the Indian Evidence Act, 1872 how many 17. 4TRdta HRT 3A4 1872 TET Abvit ay 

Je) Vested interest - Section 21 of TPA 
(c) ffda FAri 

witness are required for the proof of any fact? 
eiRT 21 HHIT 3TRO 

(d) Joint transfer for consideration Section 45 of (a) At least one (b) At least two 
(b) z7 
(d) fAfe (d) ufaRÅ VHJT 3TRT (d) Not specified TPA eTT 45 THT (c) At least five 
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21. afkrEr 3aEiHi T qsta ERT 
21. "A Barrister is instructed by an Attorney or Vakil 

that an important witness is a dacoit. This is a 

reasonable ground for asking the witness whether 

18 Match list-I with list-Il and select the correct answer 18. -1 -II TtTT iGg FeT i 

using the code given below the lists-

List 
he is a dacoit." 

(A) Electronic Records 
This illustration is based on which Section of the 

(8) Opinion as to digital signature 

(C) Proof as to digital signature 

(A)7T Td 

(B) Tsuite BTET Indian Evidence Act? 

a) Section 149 (a) TRT 149 (6) aTRI 153 
(6) Section 153 

(D) Presumption as to digital messages (c) ETRI 147 (d) TRT 145 
(c) Section 147 (d) Section 145 

(D) utea HI arr TYETROT 

List 
(1) Section 47A Indian Eyidence Act 

22. "4TRiia HIY HTAA TT HFdtd 22. "The statement in order to constitute a 

'Confession' under the lndian Evidence Act, must 
(1) eRT 47A TRTI HTI SHTAT 

(2) EITRT 88/A HTRAY FIe sEA7 

(3) ETTRT 22A 4TRC TIRI HETAH 

(4) TRT 67A ATKTI FTET HEAY4 

(2) Section 88A Indian Evidence Act either admit in terms the offence or at any rate 

substantially all the facts which constitute the (3) Section 22A Indian-Evidence Act 

(4) Section 67A Indian Evidence Act offence." 

Code The above view was expressed by the Privy Council 

(a) A-4, B-3, C-2, D-1 (6) A-3, B1, C2, D-4 (b) A-3, B-1, C-2, D-4 
in which one of the following case? 

(a) A-4, B-3, C-2, D-1 

(c) A-3, B-1, C-4, D-2 (a) Tqz. 14 grM JS A-3, B-1, C-4, D-2 (d) A-4, B-1, C-2, D-3 (d) A-4, B-1, C-2, D-3 (a) a.E. vs. Abdullah 

(b) H.H.B. Gill vs. King Emperor 
KE) Pakla Narayan Swamy vs. Emperor 

(d) John Makin vs. Attorney General 

19. Match list-I with list-ll and select the correct answer 

using the code given below the lists 

List 

23. Which of the following is hot correctly matched? 

(a) Presumption as to documents thirty years old-

Section 90 Indian Evidence Act 

(A) Section 45 of the Indian Evidence Act (A) ERT 45 4TRTA FIIE 3fefMq4 
(a) d y iIdTi arR TTYTRUTT -

ART 90 TRdRI HI HTAHYA 
(8) Section 85 of the Indian Evidence Act (B) ETRT 85 4TRHY FT 3Py4 

(C) TKT 45A 4TREIT FHIEe7 3fMT4 
(D) eTRI 23 IRI FITRT 3rffrra 

(C) Section 45A of the Indian Evidence Act 

(D) Section 23 of the Indian Evidence Act (B) Order of Examinations Section 138 Indian (b) TNIHIT I 4 eTRT 138 4TRty HA 

List Evidence Act 

(1) Opinion of Examiner on Electronic Evidence e)Presumption as to dowry death- Section 113A (c) u R À JYETRUT- RT 113A 

(2) Admission in Civil cases when relevant Indian Evidence Act 

(3) Presumption as to Power of Attorney (d) Official Communications Section 124 Indian (d) THT4 HTR - TRT 124 HIKAY H 
(3) IRTHT aTR À TYETVIT 
(4) fatysi T 

(4) Expert opinion Evidence Act 

Code 24. If a witness, who is unable to speak, gives his 

evidencein writing in the open court, evidence so 

given shall be deemed to be -

Ja) A-4, B-3, C-1, D-2 (b) A-1, B-3, C-4, D-2 
(a) A-4, B-3, C-1, D-2 
(c) A-4, B-3, C-2, D-1 (d) A-1, B-2, C3, D-4 

(b) A-1, B-3, C-4, D-2 
(c) A-4, B-3, C-2, D-1 (d) A-1, B-2, C-3, D-4 

(a) zuit HTC (6) tA5 HIEY 

(d) ciyp FI 
(a) documentary (b) primary evidence 

20. Which of the following is not correctly matched? evidence 

Ac) oral evidence (d) secondary evidence 
(a) Matrimonial communication Section 122 (o) fenfer TY - RT 122 34INA FIE 25.) Read the following statements carefully 

A. The presumption of legitinmacy of child is Indian Evidence Act 

governed by Section 112 of the Indian Evidence FTIEY 37TEHA4 i TRT 112 HAMtRT 
6) Confidential communication with Legal 

(b) fafeco TBTR Act. 
Advisors- Section 127 Indian Evidence Act B. Narendra Nath Pahari vs. Ram Govind Pahari is a 

FRT - IRT 127 HINdHT FIET 31ffAr4 
() Official communication Section 124 Indian leading case on the legitimacy of a child born 

(c) Toy TI- TRT 124 HRTHA HR Evidence Act during the continuance of valid marriage. 

From the above-
(a) A FTE dfTB TeT 
(b) 

(d) Professional communication Section 126 (a) A is true but B is false 
TTaf B FTÉI 

(c) A TTB V 
(d) A TT B z TaT 

indian Evidence Act (d) gfe R7 - RI 126 RTu TET 
(b) A is false but B is true 

(o Both A and B are true 

(d) Both A and B are false 

16-A]-134102 Page 7 of 40 
Page 6 of 40 16-A-134102 



26. qfa q gi zceEit IC T 

37E7RUIT ET 
30. T RATET KAY TE7 HH74 

foATRI HEA 8? 

(a) eTRT7 

26. Presumption as to electronic record of five year old 

SIdentification proceedings' are provided under 

which Section of the Indian Evidence Act? 
a) Presumption of Fact 

(b) Presumption of Law 
(C) Presumption of Fact and Law 

() ATRT -8 

(d) aTRT11 
(a) Section-7 (6) Section -8 

(b) fafei ai FYTRUIT 
or Section-9 (d) Section-11 (c) eRT-9 

31. Match list-1 with list-l and select the correct 
(d) Conclusive proof (d) AziaHT TT 

answer using the code glven below the lists-

S WIth list-ll and give correct answer by 27. -1 7) FaHIH AITT ao| T 

Using the code given below the lists -

List 

List- (A) Pda UE 
(A) Interpretation Clause 
(B) When facts not otherwise relevant become 

(A) Primary evidence relevant 
(B) Public document (A) TPH FIEY (C) Hg HTR 

(C) Burden of Proof 

(B) T TRIQU 
(C) Tgae TFTTT 

(D) fEAyh HIET 

(C) Private document (D) Relevancy of facts forming part of same 

(D) Secondary evidence transaction 

List- List-
(1) Section 6 Indian Evidence Act 
(2) Section 105 Indian Evidence Act 

(3) Section 11 Indian Evidence Act 

(4) Section 3 Indian Evidence Act 

(1) 8TRT 6 IRTTY HI7 HeF4 

(2) TRT 105 HIKCHa FTET 3TAfy4 

(3) TRT 114RdTa HI zffAYH 

(1) Section 74 Indian Evidence Act 
(1) TRT 74 47RAiY HIEY 7TeAyH 

(2) ETT 75 ATNdU HBT 37efy4 

(3) TRT 62 HTVTTY FIME TeY4 

(4) TRT 63 4TKIY HTRI TAT-T7H 

(2) Section 75 Indian Evidence Act 

(3) Section 62 Indian Evidence Act 
(4) eTRT 3 VTTY HIR7 31eTty4 

(4) Section 63 Indian Evidence Act 

Code Code 
(a) A-1, B-2, C-3, D-4 (6) A-2, B-3, C-4, D-1 

(b) A-2, 8-3, C4, D-1 

(d) A-2, 8-1, C-3, D-4 
(a) A-1, B-2, C-3, D-4 

)A-4, B-3, C-2, D-1 

32) In which of the following Sections of the Indian 32. 4RdI4 HIB 3IAH a$1 fq-fafea d H fo 

Evidence Act, the fact showing the knowledge is 

a) A-1, B-2, C-3, D-4 (b) A-2, B-3, C-4, D-1 (a) A-1, B-2, C-3, D-4 

(c) A-4, B-2, C:3, D-1 

(b) A-2, B-3, C-4, D-1 

(d) A-3, B-1, C-2, D-4 
()A-4, B-3, C-2, D-1 (d) A-2, B-1, C-3, D-4 

C)A-4, B-2, C3, D-1 d) A-3, B-1, C-2, D-4 
28. Which one of the following Provision of the Indian28. 4Ty FTET 37tafA RIT MTCUT 

Evidence Act is not matched? 

(a) Section 4 May Presume, Shall Presume, 
declared relevant? 

(a) Section-8 (b) Section-9 (a) TRT-8 (6) ATRT -9 Conclusive Proof 

6) Section 5 Evidence may be given of facts in (c) Section-13 (d) Section-14 (c) ETT 13 (d) eRT-14 
issues and relevant facts 

33. Consider the following events and arrange them 33. fHfTeI EIEATT UR fd4R big TT 3725 

into chronological order 

I.Cross examination 

Ic) Section 17-Relevant Fact 
(c) eTRT 17-TTd TRZ 

(d) TRT 45-fas 
(d) Section 45-Opinion of experts 

29. Match list-l with list-lland select the corect answer 29. -I qi-IÀ TAfera fy qT fau 
from the code given below the lists -

I1. Examination in chief 

I. Re-examination 

List-
N 

Select the correct answer using the code given 

(A) Hostile witness N below-

(A) E1R1E FE 

(B) ycA 
(B) Dying Declaration Code-

(6) I1, IEPAT 

(d) I1, 0 TeT 
(a) 1,I TT I (C)Refreshing Memory 

(D) Leading Questions 
(a) 1,l and lI 

(c) I, Il and 

6) 1, I and 
(d) I1, 1 andl 

List- (D) Ta 34. The evidence may be given of following facts-
(1) Section 159 Indian Evidence Act (1) faaTu Ty 

(2) Ja TA 
(1) eTRT 159 HIRGTY HIRT 3efAa4 (1) Facts in issue 

(2) Section 32(1) Indian Evidence Act 
(2) Relevant fact (2) eRI 32(1) 4RY FI 3feitA4 

(3) TT 154 HIKdRY FI 37AA4H 
(4) RT 141 TRdIY HI 3fMT4 

(3) Section 154 Indian Evidence Act 
Select the correct answer using the code given 

4) Section 141 Indian Evidence Act 
below 

Code 

) A-3, B-2, C1, D-4 () A-1, B-2, C-3, 0-4 
Code (a) e 11 (b) ec 2 

a) A-3, 8-2, C-1, D-4 (a) Only 1 (b) Only 2 (b) A-1, B-2, C3, D-4 
(d) A-2, B-3, C-1, D-4 

(c) A-4, B-2, C-1, D-3 d)A-2, B-3, C1, D-4 (c) 13 2 aT (d) 1 38 2 
(C)A-4, B-2, C-1, D-3 Jor Both 1 and 2 (d) Neither1 nor 2 
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35. Assetion (A): Admission is only prima facie proot. 
39. Which of the following pair is not matched? 

Reason (R): Admission is not a conclusive proof but (a) Extortion-Section 383 1PC 
it may operate as an estopple. 

(a) ser - ART 383 IKGTZ qU HIET 
(6) Dacoity-Section 391 IPC 

(b)3d- aRT 391 TRA ZUG HfET 
(c) 2TRI 389 4TRATY Z TT 
(d) - aT 378 HTa zv3 T 

40. fqfam fafafau RfTR hfR x 

(a) A and R both are true and R is the correct ) Robbery-Section 389 IPC 
explanation of A (a) A 3itR R zAi FU R R, A I T araI 

(d) Theft-Section 378 IPc 
(6) A and R both are true but R is not the correct 40. Consider the following activities & arrange them 

into chronological ascending order as per relevant 

Sections of the Indian Penal Code. 

(b) A 3ITY R zA I T R, A H 
explanation of A 

(c) A is true but R is false 
(c) A HI UNR UHI E 

(d) RFI YA 3RiT7 
I. Sedition L.ITRTE 

1. -TTZR 
(d) Ris true but A is false I1. House Tresspass 

IL. Communication made in good faith 
V. Public Nuisance 

36. The Cardinal Principle of Criminal Law 'Nullum 

Crimen Nulla Poena Sine Lege' means- Select the correct answer using the code given 

(a) fa yd venfd7 snyRTE7 fafei a below-
Ja) no crime of punishment can exist without pre-

Code 
ka) M, 1, V, II existing Criminal Law (b) M, V, I, 

(d) IV, I1, , 
(a) lIl, 1, IV, II (6) WI, IV, 1, 

(d) IV, I, 1, M (6) a man is presumed to be innocent until proven (c) 1, I1, 1, IV (c) 1, 1), 1, N 

41. The expression 'disaffection' used in Section 124-A 

of the Indian Penal Code includes -

(a) disloyalty only 
5) disloyalty and all feeling of enemity 

(c)all feling of enemity only 
(d) hatred or contempt 

guilty 41. 4KdY qE HETT RT 124-A À TJT T 
(C) ignorance of law is not excused 

(a) ignorance of fact is excused 
3. Match list- with list-ll and select the correct 

answer using the code given below the lists-

List 

(A) ETRT 146 4TVdI7 FUE HaT 
(B) eTRI 340 MRdA zUE HisAT 

(A) Section 146 IPC 42. Assertion (A): A is a child of nine years. He 

(B) Section 340 IPC intentionally killed B. A may be 
(C) Section 192 1PC (C)ETT 192 HRa zU HETT 

(D) ATRI 383 HINY TUE iBTT 
proved guilty. 

(D) Section 383 IPC 
Reason (R): Child below the age of twelve year 

List-
(1) Fabricating False Evidence 

exempted from criminal liability. 

(2) Extortion select the correct answer 
(2) BEIY (a) (A) 3TR (R) ET HE TAT (R), (A) THET 

FUYUT 
(3) Rioting (a) Both (A) and (R) are true and (R) is the correct 

(3) cI YT 
(4) Wrongful confinement (4) HETT qfrre explanation of (A) 

Code (b) Both (A) and (R) are true but (R) is not correct (b) (A) 3N (R) d TE f (R), (A) I HET 

(a) A-1, B-4, C-3, D-2 Ab) A-3, B-4, C-1, D-2 
(a) A-1, B-4, C-3, D-2 (6) A-3, B-4, C-1, D-2 explanation of (A) 

(c) A-3, B-2, C-1, D-4 (d) A-2, B-4, C-3, D-1 () A) TT g (R) TT 
(d) (A) THT u (R) HI 

(c) A-3, B-2, C1, D-4 (d) A-2, B-4, C-3, D-1 Jor (A) is true but (R) is false 
38. 'A' commits theft on the property in the possession (d) (A) is false but (R) is true 

of 'B' and while committing theft 'A' has a loaded 
43. A hangman, who hang the prisoners pursuant to 43. gs ToR, I ETOT 3TET THTR 

pistol under his garments, kept for the purpose of the order of the court is exempted from criminal 

hurting 'B' in case if 'B' resist. liability by virtue of-

The offence committed by 'A' is defined under (a) Section 77 1PC (a) TT 77 d zve HifsT 
1860, a1 fH UIRT À ufRATfdT fqT TI 8? which Section of the Indian Penal Code, 1860? 

Ja) Section 382 
(b) Section 73 IPC 

Ac) Section 78 IPC 
(D) eTT 73 R zUs ia 

(b) Section 381 (a) eTRI 382 (6) eTT 381 (c) HTRT 78 4RdI zUE HfeT 
(c) Section 379 (d) Section 390 (c) RT 379 (d) eTRT 390 (d) Section 76 1PC (d) eTRT 76 4TKdtI zVs HT 
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44. Match list-I with list-ll and select the correct answer 48. Assertion (A): The Indian Penal Code contains 48. 34f4547 (A): HTta zug ifET 3TvTeT5 

from the code given below the lists- certain exemptions from criminal 

List liability. R (R): TuRtaar HIfA 
A. Causing death by negligence Reason (R): These cannot be universal criminal 

B. Dowry death liability in all circumstances. 

B. GE 
C. 317CHE GR 
D. THERT YA DI AM 

C. Abetment to suicide Select the correct answer-
(a) (A) 3TR (R) aT F7 R (R), (A) TE 

D. Attempt to commit suicide a (A) and (R) both are true and (R) is the correct 

List explanation of (A) 

(6) (A) and (R) both are true but (R) is not the 
(b) (A) attx (R) ET FT afD (R), (A) H 

1. Section 309 IPC 

1. ETRT 309 HTRIT FUE HidAT 
correct explanation of (A) 2. Section 306 IPC 

() (A) H YR (R) 3H7 

(d) (A) RT (R) *T 
2. E7T 306 4TRCTU qUE HIBTT (c) (A) is true but (R) is false 3. Section 304A IPC 
3. ETRT: 304A HTRCTa qU FHTBTT 

(d) (A) is false but (R) is true 4. Section 3048 IPC 
4. eTRT 304B TYATY qUG HIBTI 

49. Which one of the following is correctly matched? Code 

(A)-3, (B) 4, (C}-2, (D)1 (a) Section 124A IPC Criminal conspiracy 
(a) (A}-3, (8)-4, (C)-2, (D)-1 

(b) (A)-1, (8)-2, (C)4, (D)-3 

(c) (A)-2, (B)-4, (C)-1, (D)-3 

(b) (A-1, (B)-2, (C)4, (D)3 A6) Section 340 IPC-Wrongful confinement 
(b) eRT 340 HTRTY Ts T H YRYTET 

(c) TNT 350 4TRTT7 TUE HET IDR 

(d) ETRT 354C HTRdRI z HITT-T 

c) (A)-2, (B)-4, (C}1, (D)3 
(c) Section 350 IPC-Rape 

(d) (A)4, (8)}2, (C)-3, (D) 1 (d) (A)-4, (6)-2, (C)-3, (D)-1 
(d) Section 354C IPC-Stalking 45. Which of the following case is related to the 

defence of necessity? 50. Match List-I with List-l and select the correct 

(a) D.P.P. vs. Beard answer using the code given below the lists-

AB) R. vs. Dudley and Stephen List-
(C) R. vs. Lipman A. Section 463 IPC 

A. ERT 463 HTREY ZUE HTET 

B. TT 445 ATATT zU HT 
C. TRT 441 4R zve ifsam 

(d) Case of Mc'Naughten B. Section 445 IPC 

46. Arrange the following the chronological 46. fq-aferT 4T zu3 kikCT eTRI C. Section 441 IPC 

ascending order as per relevant Sections of the D. Section 503 IPC 

India Penal Code- List- D. TRT 503 ArMa zUz HRT 
. Document 1. Criminal tresspass 

. Fraudulently 2. Forgery 1. 3179RT stER 

I. Dishonestly 3. Criminal intimidation 2. 7T 
IV. Ha 3. 3479Tc7 3 V. Public Servant 4. House breaking 

Select the correct answer using the code given Code 4. TE H 

below- as (A}-2, (8}4, (C}1, (D)-3 
a) IV, 1, 1 and I (6) I1, 1, IV and I (a) IV, 1, I TPATI (6) I, 1, IV TeTI (b) (A)-2,(B)-4, (0)-3, (D)-1 (a)(A)-2, (8)-4, (C)-1, (D)3 
(c)1,1, l and IV (d) Ii1, 1, I and IV (c) 1, 1, RIT IV (d) I1, 1, ITT V () (A-2, (8)-1, (C)3, (D)-4 (b) (A)-2, (8)-4, (C)-3, (D)-1 

47. In executing a sentence of solitary confinement, (c) (A)-2, (8)-1, (C)-3, (D)-4 
(d)(A)-1, (8)-2,(C)-4, (0)3 

such confinement shall in no case exceed, how (d) (A)-1, (B-2, (C)-4, (0)-3 
51. f I T 3FVTE 71 T TE 8? 

(b) TT 
many days at a time? 51. Which of the following is not an element of crime? 

7 days (b) 14 days (a) 7 f7 b) 14 f (a) Human being (6) Mensrea (a) HTT Tu 

(c) 21 days (d) 01 month () 21m (c) Actusreus (d Object (d) T&7 
(d) 01 HTE 
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52. Match list-I with list-ll and select the correct answer 
55. Disclosure of the identity of a rape victim 

punishable under the following Section of IPC, using code given below the lists - Hfea 1860 R v 1860-
List List- 1. TgTE 

2. 77rftbT 
(a) Section 337 (6) Section 228 

Jd) Section 228A 
A. 120A 1. Sedition A. 120A (a) aTRI 337 (b) aI 222 

(c) Section 229 
8. 124A 2. Voyeurism 124A (c) eTRT 229 (d) sTT 223 

295A 56. For the validity of a contract, which of the following 
elements are necessay? 
1. Intention to create legal relationship 

2. Knowledge of the offer 

t3. Writing of the agreement 
4. Acceptance of the offer 

C295A 3. Criminal conspiracy 
D. 354C 

. 354C 4. Deliberate and Malicious Acts 

intended to outrage religious 
2. RETT I 51 

feelings or any class by insulting 
3. ftec R TI BTT 

religious belief or religion. 
Select the correct answer using the code given 

4. RITa TT FIDA 
Code 

below -

(a) (A)-1, (8)-2, (C)-3, (D)4 (a) (A)-1, (8)-2, (C)}-3, (D)-4 
Code 

(b) (A-2, (B)-4, (C)-1, (D)3 (b) (A)-2, (8)-4, (C-1, (D)-3 (a) 2,3 &4 

e 1,2&4 
57. An agreement, the meaning of which is neither 

(6) 1,3&4 
(d) 1,2&3 

(a) 2,3 3TR 4 

()1,2 R 4 

(b) 1,3 3TR 4 

(d) 1,23T3 (c) (A)4, (B)-3, (C)-2, (D)-1 ) (A)-4, (8)3, (C-2, (D)-1 

Jd) A)-3, (B)-1, (C)4, (D)-2 (d) (A)-3, (8)-1, (C)-4, (D)2 

53. 'A is a national champion of swimming in pond. He certain nor is capable of being certain is 

Void 6) llegal (a) T 
(c) Tvy 

(b) srdE 
() fafe 

could have saved the child, but did not do so. The (c) Voidable (d) Valid 

child drowned. Is 'A' guilty of- 58. Match list-I with list-ll and select the correct answer 

(a) murder using the code given below the lists-

List-(b) abetment of Suicide A. TRT 16 HINdTU HTTET fafa 
B. ETRT 71 HTrAa Haci far 
C. ETRT 2(d) HNaTa HTaET fard 
D. TRT 56 TTdr ieET fa 

A. Section 16 Indian Contract Act 

(0) culpable homicide not amounting to murder B. Section 71 Indian Contract Act 
C. Section 2(d) Indian Contract Act 

D. Section 56 Indian Contract Act 

List 
) no offence (d) 3TRTEI TET 

54. q- zh-1 Tf TTE 54. Match list-1 with list-ll and select the correct answer 
1. Consideration 

using the code given below the lists- 1. HTAa 
2. Agreement to do impossible act 

List 2. 3FHH T fY YR 
3. Undue influence 

A. Delivery of property 3. 3TRT THTT 
4. Finder of goods A. FHRy 7 yRETA 4. HT YST Y7 TT B. Taking of property Code 

B. C. Entrustment of property (a) (A)-2, (B}-3, (C)-1, (D)4 

A5) (A}-3, (B)-4, (C)-1, (D)-2 
(a) (A)-2, (8)3, (C)-1, (D)-4 
(6) (A}-3, (8)-4, (C)-1, (D}-2 
(c) (A)-3, (0)-1, (C)-4, (D)2 
(d) (A)-2, (B)4, (}1, (D)3 

D.Convertibility of property got innocently to onee's 
D. 

own use () (A)-3, (8)-1, (4, (0}-2 
List-l1 (d) (A)-2, (B)-4, (C)-1, (D)-3 

1. Criminal breach of trust 59. Which of the following is correctly matched? 

2. Criminal misappropriation of property (a) Revocation how made Section 5 Indian 

Contract Act 

(a) utdHiER a HT T- TT 5 HTTAT 2. 7Ft a1 3TTRITe7 zfafatT 

. 
. Theft 

4. Extortion (b) Acceptance must be absolute Section 6 Indian (b) ufargp 3TuT BHI H eTRT 6 
4. TEI 

Code- Contract Act 

á) (A)}4, (B)-3, (C)-1, (D)2 (C)Person competent to contract Section 10 eTRT 10 (a) (A)-4, (8)-3, (C)-1, (D)-2 
(b) (A)3, (8)4, (C)-1, (D)-2 
(c) (A)4, (6)-2, (C)-3, (D)-1 
(d) (A)-3, (B)-1, (C)-2, (D)-4 

(b) (A)-3, (8)-4, (C)-1, (D)-2 Indian Contract Act 

(c) (A)-4, (B)-2, (C)-3, (D)1 Responsibility of finder of goods Section 71 

(d) (A)-3, (8)-1, (C)-2, (D)-4 Indian Contract Act 
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64. Which one is the correct sequence from the 64. ry afrer atf974, 1872 3R AA 4 

60. 3eA (A): fAfI ETRT Yadiy IR WATT }| 
following as implied in the India Contract Act, 60. Assertion (A): Agreements enforceable by law are 

(A) kTIa ETT 

(B)ifaT 

1872 
contracts. 

(A) Offer of proposal 
Reason (R): Agreements not enforceable by law are 

(B) Contract void. C) 
Select the correct answer using the code given 

below-O 

(C) Promise 

(D) Agreement 
(E) Acceptance 

(D) 

(a) (A) 3iR (R) T H E 3IR (R), (A) 6} HE (E) Fpf 
Code 

A�) BothA) and (R) are true and (R) is correct 
Select the correct answer-

(a) (C), (E), (A), (D), (B) (6) (D). (B), (C), (A), (E) 

(c) (B), (D), (C), (A), (E) (d) (A), (E), (C), (0), (B) 
(a) (C), (E), (A), (0), (6) (b) (0), (8), (C), (A), (E) 

(b) (A) ir (R) aA E fbI (R), (A) 5 HE 
explanotion of (A) 

(b) Both (A) and (R) are true but (R) is not correct 
(C)(B), (D), (C), (A), (E) (A), (E), (C), (D), (B) 

65. Point out the correct answer 
explanation of (A) 

Ja) An agreement enforceable by law is a contract. (a) fa eTR Tir R HII 
(c) (A) is true but (R) is false 

(b) An agreement which is not enforceable by law 
(d) (A) is false but (R) is true (d)(A) T f R) 

is also a contract. 

61. The casd.of Tweddle vs. Atkinson is related with -

Ja) Privityof Contract 
(b) Imposibility of performance 

() General offer 
(d) Anticipatory Breach of Contract 

(C) Every agreement isa contract. 

(d) None of the above 

(6) YTT HH4T 

(c) HTHT YKTT 

(d) HaeI ydnifera 47 

66. Assertion {A): Invitation to make tenders is not an 66. aftry (A): Aiderg T174 Ag HTHT 

offer. 

Reason (R): A tender in response to such invitation 
62. Match list-I with list-ll and select the correct answer is an offer 

from the code given below the lists -

Listb 
Select the correct answer 

(A) & (R) both are true and (R) is correct (a) (A) TPAT (R) TAi T 3N (R), (A) HEI 

(A) Freeconsent 

(B) Misrepresentation 

explanation of (A) 
(A) THA 

(b) (A) & (R) both are true but (R) is not the correct (b) (A) aT (R) a (R), (A) 
(6) ToT T-T 

(C) Coercion explanation of (A) 
(C) uts 

(D) Fraud (C) (A) is true but (R) is false (C) (A) H TV (R) JTHTY 
(D) y 

List- (d) (R) is true but (A) is false 

(1) Section 17 Indian Contract Act 67. When consideration and object of an agreement is 
(1) eTRT 17 47KETI YfTET 3HEfAY4 

(2) Section 15 Indian Contract Act (2) TRT 15 RdiA HdET 3efAy4 
(3) eTRT 18 47Rdta HfaT 37efA4 
(4) TT 14 47RTI HÍdET 37efAy4 

partly unlawful under Indian Contract Act, 1872, 

(3) Section 18 Indian Contract Act the agreement is 

(4) Sectlop 14 Indian Contract Act Void 
(a) 

a) 
Code (b) Voidable (6) 
(a) A-1,0B-2, C3, D-45) A-4, B-3, C2, D-1 (a) A-1, B-2, C-3, D-4 (6) A-4, B-3, C-2, D-1 (c) Partially void and partially voidable 

(C) A-3, B-2, C-4, D-1 (d) A-2, B-3, C1, D-4 (C)A-3, B-2, C-4, D-1 (d) A-2, B-3, C-1, D-4 d) None of the above 

63. Under Section 2(C) of Indian Contract Act 68. A owes '8' 1000 but the debt is barred by the 

'promisee' is the TETT Limitation Act. 'A' signs written promise to pay 8 

500 on account of the debt. This is a -
(a) Person who makes the proposal. 

(b) Person who accepts the proposal. a Contract (b) Void contract 
(a) HaaT 

(c) R 

(6) q7ifaar 

(d) R 
(c) Person who makes the promise. 

(c)Agreement (d) Void agreement 
(d) Person to whom the proposal is made. 
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69. Match list-I with list-l and give correct answer by 73)Which of the following Section in the Code of Civil 

Procedure, 1908 deals with settlement of disputes 

73. ari ubu HBAI, 1908 a a I A 
using the code given below the lists -

List outside the court? 

(A) Voidable contract (a) Section 88 Section 89 (a) ari 88 (b) aRT 89 
(A) u} YfAET 

(B) ifaT 
(B) Contract (c)Section 90 (d) Section 91 (c) ATRI 90 (d) aRT 91 

(C) Void agreement 74. Match list-I with list-11 and give correct answer by 
using the code given below the lists-(D) Consideration (C) YTR 

List 
(A) Adjournment Listi (D) po 

(1) Section 2(d) Indian Contract Act (B) Execution of Decree and orders (A) FYTI 

(1) eTRT 2(d) 4TYdia ieET 37eiAn 
(C) Plaint (2) Section 2(g) indian Contract Act 

(C) aica 
(2) ETET 2(e) Na FifaeT siefAa74 (D) Affidavit 

(3) Section 2(i) Indian Contract Act (D) I47 
(3) eTTVT 2(i) ¥TY Fiaei sifeiM 

(4) ETRT 2(h) 7Vciy FifaeT ¥fAA4 

List-I 
(4) Section 2(h) Indian Contract Act (1) Order 19 CPC (1) 3TT 19 tat utaT tifsT 

(2)HTCT 17 qTaTt YIsbAT HIEAT 
(3) 3TT 21 at uiT HfTT 

(4) 31TCT7 TaAi Tbar HlT 

Code- (2) Order 17 CPC 

(a) A-4, B-3, C-2, D-1 bY A-3, B-4, C-2, D-1 (3) Order 21 CPC 

(a) A-4, B-3, C-2, D-1 (b) A-3, B-4, C-2, D-1 (4) Order 7 CPC 
(c) A-1, B-2, C-3, D-4 (d) A-4, B-2, C-3, D-1 (d) A-4, B-2, C-3, D-1 Code-(c) A-1, B-2, C-3, D-4 

(a) A-1, B-2, C-3, D-4 6) A-2, 8-3, C-4, D-1 

(d) A-4, B-2, C3, D-1 
(a) A-1, B-2, C-3, D-4 

(c) A-3, B-2, C-1, D-4 

(b) A-2, B-3, C-4, D-1 

(d) A-4, B-2, C-3, D-1 
70. Taylor vs. Caldwell, 122 ER 309 is a leading case on 

70. &aR q4 BISàa, 122 ITR. 309 4TRdy 
(c) A-3, B-2, C-1, D-4 

which topic in indian Contract Act, 1872? 75. fefaa uf»aT FifRa, 1908 RT 2(13) 75. 'Movable Property' under Section 2(13) of the Code 

of Civil Procedure Code, 1908 includes 
(a) growing trees 

ogrowing crops 
76. Section 75 of the Civil Procedure Code, 1908 

(a) Doctrine of (b) Doctrine of Necessity 
(6) buildings (a) d 43 (b) HRT 

Frustration 
d) money (d) 

(c) Offer (d) Contingent Contract 76. fHaa ufbai ifBaT, 1908 eRT 75 GA 
(C)eTyT (d) HAea fAaI 

provides for 

(a) Issuing Commission for getting opinion 
(6) Appointment of executors and administrators 

1. Which of the following Sections of Code of Civil 71. tar- ufsa vifaaI, 1908 h f B 

Procedure, 1908 deals with transfer of decree for 

(C) Settlement of disputes outside the court 

(d) All of the above 

execution ? 

(d) TTT FT (a)Section 42 

Ac)Section 51 
(b) Section 39 (a) TRT 42 (b) eTRI 39 
(d) Section 16 T7. Match list-I with list-l and select the answer using 

(c) eIRT 51 (d) eTRT 16 the code given below the lists-

72. Arrange the following in the chronological order on 72. fAafefra i dar u iaI, 1908 a1 List-

(A) Execution of Decree 

(B) Letter of request 
the basis of Sections of Civil Procedure Code, 

(A) 7T fE 
(B) 3RR T 
(c) fafers ufaAfa 
(D) aT HfReA D 

1908 
(C) Legal representative 
(D) Institution of Suit 

List-
(1) Section 50 CPC 

(1) Institutions of Suits (0) -
(u) feferr ufafAA 

(1) Res Judicata 

(10) Legal representative 
(1) TTRT 50 fdT utsbqI vifdaT 

(2) &TRT 26 ifT AthyT vfdm 

(3) RT 77 HAT AhUT ildT 

(4) IRT 38 fifdT uttYT ifdM 

(IV) Arrest and detention 
(2) Section 26 CPC 

Select the correct answer 
(3) Section 77 CPC 

Code (4) Section 38 CPC 
(a) 1, , Ii & IV (b) 1, 11, II&V (a) 1, 1, M 3tr IV (b) 1, 1, 1 3tR IV 

Code 
(6) A-2, B-4, C-1, D-3 (a) A-1, B-2, C-4, D-3 

(c) A-4, B-3, C-1, D-2 
A) , , & IV (d) I, , I& V (d) I, 11, 1 3itR IV (a) A-1, B-2, C-4, D-3 (b) A-2, B-4, C-1, D-3 

(d) A-3, B-4, C-1, D-2 
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84. Which one of the tollowing is/ not correctly 78. a Tafrn qa aRI 3Tuferi 
6. Provision regarding adjudication of Claims and 

Objection to attached property is -

(a) Order 21 Rule 58 CPC 

matched? 

(o) 3eT 21 Aa S8 i7 ulbar HRar 

(b) 3HTdT 21 Mz4 59 RildT ularI viRaT 

(c) 3HTT 21 uH 57 ida ulaT VilBaT 

(a) aT 2(2) if7 fa fea-3 

(b) aTT 219) ufaa sfra Hfa-fqu 
(c) aI 213) rifa u aT 
(d) aTT 216) fafaa utoar fmi-fa2z Auta 

(a) Section 2(2) CPC-Decree 

(6) Order 21 Rule 59 CPC (b) Section 2(9) CPC- Judgement 

(c) Order 21 Rule 57 CPC (c) Section 2(13) CPC -Order 

(d) None of the above Ad) Section 2(6) CPC- Foreign Judgme 

85. Which of the following statements is/are correct? "No appeal shall lie from a decree passed by the 

court with the consent of the parties." It is provided (1) Pleading to state material facts and not 
in 

evidence. 
(a) aa gfruT KilBT a eRI 96(1) 

(b) HfAT utbaT zi�cT 1 eRI 96(2) H 
TTI 

(2) 37faui ZTE i ifsm 
3TH VI R47 16 aa 

(a) Section 96(1) CPC 
(2) Amendments of pleadings is provided in order 

(b) Section 96(2) CPC 
VI Rule 16 of CPC. 

(c) fHfAa ufbaT HIBT } RT 96(3) 

(d) ffaa ufarar ifsar EITRT 96(4) 

80. fafGfT JHA HET TR 

) Section 96(3) CPC 

(d) Section 96(4) CPC Select the correct answer 
(6) e7 2 (a) 1 

(c) 13R 2 zT 
80. Which of the following combinations are correctly 

(a) Only 1 (b) Only 2 

matched? (c) Both 1 and 2 (d) Neither 1 nor 2 d) a 1T E 2 

(1) TRTazay ar3TT 35 fRHAA HADYT 
86. Which Section of the CPC prohibits arrest or (1) Interpleader Suit Order 35 CPC 86. ffa faa tisa aTRT 

(2) Judgment and Decree - Order 20, CPC 
(2) futa aRT f3 3HTET 20 iAT uDaT detention of woman in the execution of a decree of 

money? (3) Withdrawal and Adjustment of Suits Order 23 

(3) aa aT9t yT HHYG - 3ITRAT 23 (a) Section 55 ) Section 56 CPC (a) eTRT 5 (b) aTRT 56 
(C) Section 59 (d) Section 60 (4) Payment into Court-Order 21 CPC (c) ETRT 59 (d) TRT 60 

(4) iGY 4 TTP = 3ITRT 21 HAT 
Select the correct answer 87. Match list-l with list-iand select the correct 

Code answer using the code given below-

(a)1,2 and 3 (6) 1, 2 and 4 List-I 
(6) 1,2 I 4 (a)1,2 PT3 

(c) 1,3724 
81. z aTT A HTH H.EIT. Y3I.3IR. 1965 

A¬) 1,3 and4 (d) 2, 3 and4 (A) Settlement of dispute outside the court 
(d) 2, 3 4 

(B) Suit by or against Government 
81. Devilal Modi vs. STO AIR 1965 SC 1150 is a leading 

case on which topic? 
(C) Interpleader Suit (C) 3TRMAT aTe 

(a) Stay of Suit (b) Place of Suit (D) Resistance to execution 

() Constructive res (d) Interlocutory orders List-ll 

judicata (C) UISATY (d) sicrdadi 3ATTT (1) Section 74 CPC 
(1) TRT 74 fRa ztaT FIRT 

(2) Section 88 CPC 82. Who has the authority to fix scales of monthly 
allowances payable for subsistence of judgment 
debtor? 

(2) ETRT 88 Hfaa uUT HlETT 

(3) aTRT 79 fRrtT uT iT 
(3) Section 79 CPC 

(4) Section 89 CPC 
(a) District Court (b) State Government (4) ETRT 89 Hrda HisDT FIEAT (a) fooi AIY 

(c) fren srtbIå 
Code-

(c) District Magistrate (d) High Court (d) rIEY 
Jes (A)-4, (B)-3, (C}-2, (D)-1 83. Which of the following suits are of civil nature? 

(1) Suits related to Right of Worship. 
(2) Suits for rights of hereditary offices. 
3) Suits tor recovery of voluntary payments or 

offerings. 
(4) Suits for specific relief. 

(a) (A)-4, (8)-3, (C)}-2, (D)-1 
(b) (A)-4, (8)-2, (C)-1, (D}3 

().(A)-4, (B)-2, (C)-1, (D)}-3 
(c) (A)-3, (8)-4,(C-2, (0)1 

(c) (A)}3, (8)-4, (C2, (D-1 
(d) (A)-3, (B)-2, (C}4, (D)-1 

(d) (A)-3, (0)-2, (C)-4, (D)-1 
88. ferfaa ufbai isam 3TÈT XX-A 

f TRT"T EAT 8? 
(a) aT atdH dAT (6) 3rtteT 

(4) fafAfee TTTY t arE| 88. Order XX-A of the Civil Procedure Code applies to 
Select the correct answer which of the following? 
Code-

(@) Withdrawl of Suits (b) Appeal 
-

(a) 1,2 and 3 (b) 2, 3 and 4 (a) 1,2 37T3 
() 1,2 3f4 

(b) 2,3 3itR 4 
1,2 and 4 (d) 1,3 and 4 Cost (d) Judgment (c) 

(d) 1,3 3t 4 
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93. Where lies the procedure under Criminal Procedure 3. 3Tefs ufa afn, 1973 f Aa 08. Match list with ist-l and select the corect 
answer using the code given below the lists -

List 
Code, 1973, when corporation or registered society 

(1) 7RT 11 fMA7 utbA iBT 

(2) 7RT 26 RIfAA uUT iBar 

(3) EITRT 33 iT HlUT HBT 

(4) TRT 35 B fAtdI ubaT FilETT 

is an accused? 

(1) Section 11 CPC 

(2) Section 26 CPC 
(3) Section 33 CPC 
(4) Section 35 B CPC 

(o) Section 319 (b) Section 304 (a) T 319 (6) TRT 304 
(c) Section 305 (d) Section 306 (c) eTT 305 (d) aTT 306 

94. Match list-l with list-ll and select the correct 

List-
(A) Institution of Suits 
(B) Res judicata 
(C) Costs for causing delay 

(D) Judgment and Decree 

answer using the code given below the lists 

List 
(A) Language of the Court 

(8) Compensation to the victim 

(C) Classification of offences 

(D) Inherent powers of High Court 

List-
(1) Section 482 Cr.P.C. 

(2) Section 272 Cr.P.C. 

(6) 7/HS 

Code-
(C) 3r9Rja aijtbRUT 

(a)(A-1, (8)-2, (C)-3, (D)-4 
)(A}-2, (B)-1, (C)-4, (D3 (a) (A)-1, (B)-2, (C)-3, (D)-4 

(6) (A}-2, (B}1, (C)4, (D)-3 

(C) (A)3, (B)-4, (C)-1, (D)2 
(d) (A)-4, (B):3, (C)-2, (D)-1 

90. Tart ua riaT, 1908 t STRI 64 HERI(2) 

H 
(1) ETRT 482 FE uT HfEAT 
(2) E7TRT 272 U HYT HBAT 
(3) TRT 357 U3 TT HiAT 

(c) (A3, (8)4, (C)-1, (D)-2 
(d) (A)4, (8)3, (C)-2, (D)-1 (3) Section 357 Cr.P.C. 

(4) 1 Schedule Cr.P.C. 

Code 
Ja (A}2, (B)-3, (C)-4, (D)-1 

90. Subject to Sub-Section(2) of Section 64 of the Code 
of Civil Procedure, 1908, a private alienation of (a) (A)-2, (B)-3, (C)4, (D)1 
property after attachment is -

(b) (A)-3, (6)-1, (C}2, (D)4 (b) (A-3, (B)-1, (C}-2, (0)-4 
() (A)-4, (B)-2, (C)}-3, (D)-1 

(a) Voidable (D) improper (b) &rgfar () ouity 

(c) far iTT 

() (A)-4, (B)-2, (C}3, (D)-1 
(c)Lawful (d) Void d (d) (A)-1, (B)-4, (C}-2, (D)3 (d) (A}-1, (8)4, (CH2, (D)3 

91. Which Section of Cr.P.C. is related to "no 95. Which Section of Cr.P.C. has provision for 95. qU fT zieaT - aT ake 

cancellation of warrants? unnecessary restraint"? 

Aa) Section 49 (6) Section 44 (a) Section 69 (6) Section 70 (a) eTRT 69 (b) TRT 70 
(a) eRT 49 (b) TRT 44 

(c) Section 46 (d)Section 43 (c) Section 71 (d) None of the above (c) EITRT 71 
(c) eRT 46 (d) eITRT 43 

S2. Match list-I with list-Il and select the correct 
96. 3a A (A): a fàa udië 96. Assertion (A): Inquiry precedes trial. 

Reason (R): Trial is the third stage of criminal 
answer using the code given below the lists 

List 

proceeding. 
Ja) (A) and (R) both are true and (R) is the correct 

explanation of (A) 

(A) Contents of charge (A) 3RT T 
(B) fAr (B) Judgment 

(C) Assistant Public Prosecutor 
(C) FTER sauo (b) (A) and (R) both are true but (R) is not the (b) (A) 3tR (R) THi FU f (R), (A) HE (D) Reference to High Court 

List 
(1) Section 395 Cr.P.C. 

correct explanation of (A) 

(c) (A) is true but (R) is false (c) (A) FY R (R) 3FtIT 
(2) Section 25 Cr.P.C. (1) TRT 395 qTE ufqI HBTT (d) (A) is false but (R) is true 

(2) TT 25 UG uYT HifdaT (3) Section 353 Cr.P.C. 97. An offence punishable with imprisonment for a 
(3) ERT 353 qUE HtAT iBaT 

(4) Section 211 Cr.P.C. term exceeding two years relates to -

(4) 7TRT 211 EvE HfT TvfsaT 
Code- (a) HHATH (a) Summon cases 

6) Warrant cases (a) (A)-3, (B)-4, (C-2, (D)-1 
(a) (A)-3, (8)-4, (C)-2, (D)-1 (b)A)-1, (B)-4, (C)3, (D)-2 

t6) (A)4, (8)-3, (C-2, (D)-1 
(d) (A)-4, (B)-2, (C)-3, (D)-1 

(c)Both of the above (a) & (b) 
(d) Neither of the above (a) & (b) 

(b) (A)-1, (B)-4, (C)-3, (D)-2 
() (A)-4, (8-3, (C)-2, (D}-1 
(4) (A)-4, (B)-2, (C)-3, (D)1 [16-A]-134102 Page 23 of 40 
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95. Match list- with list-l and select the cormect 
102. When the accused is agerieved by the report of the 102. 7a 3eYH 1asfra% ET far fapfa 

answer from the code given below the lists-
Psychologst as to his unsoundness of mind, he may 

List 

(A) HfrEE HTRT 
PRYTN 

(B) TSE afdI FNI RYATN 

appeal to 

(A) Arrest by Magistrate 
(a) Magistrate hearing the case 

(8) Arrest by private person 
(6) IRTTU 4 

(b) High Court 
(C) Arrest how made 

(c) Medical Board 
(D) Arrest by police officer without warrant 

0) Session Court 
List-

103. Which of the following is not correctly matched? (1) Section 41 Cr.P.C. (1) ETRT 41 ZUG utT ETT 

(a) Trial by High Court-Section 473 ofeP.C. (a) AIA YAH ATRO - aT 473 
(2) Section 43 Cr.P.C. (2) E7T 43 EUG HUT HET 

(3) Section 44 CP.C. (3) ETT 44 ZUG IYT HET 
(b) Power of High Court to make rules Section 

(4) Section 46 Cr.P.C. (4) TRI 46 UT YTSbYIT YETT 

477 of Cr. P.C. 
Code TRT 477 qUs HIUT HET 

(c) Appeal in case of acquittal-Section 378 of Cr. (@)(A)-1. (B)-2. (C3, (D)-4 
A6) (A}3, (B}-2, (C)-4, (0)-11 

(a) (A)-1, (8)-2, (C)-3, (D)-4 ETRT 3783 

(b) (A)-3, (8)-2, (C)4, (D)-1 
P.C. 

()(A}2, (8)-3, (CH-1, (D)4 (c) (A)-2, (8)-3, (C)-1, (D)4 
(d) Resumption of inquiry or trial-Section 331 of 

(d) (A)-3, (B)-2, (C)-1, (D)-4 
(d) (A)3, (82,(CH1, ()4 

Cr.P P.C. 331 fhqT vifea 
99. Which one of the following Section of Criminal 99. qUEuthaT HET, 1973 T A TRTHT 

104. Which Provision of the Cr.P.C. resembles with 104. qug fraT ifea -T ATC 1 
Procedure Code, 1973 provides that, 'No judge or 

Magistrate shall try any case in which he is 
Habeas Corpus Writ? 

personally interested? E, faRTTE T? (a) Section 91 (b) Section 93 (a) eTRT 91 (6) TRT 93 

(a)Section 477 (6) Section 481 (a) eTRT 477 (b) eTT 481 e Section 97 (d) Section 9 (c) eTT 97 (d) aTRT 96 
(c) Section 478 ) Section 479 (d) eTTRT 479 (c) TRT 478 105. Which one of the following is correctly matched? 

100. The subject of criminal procedure falls in which one (a) TRT 44 UuU HSTT - qfcra aive 
(a) Section 44 Cr.P.C. - When police may arrest 

of the following List of the Constitution of India? 
without warrant 

(a) Union List (b) State List (a)a (b) t (b) ETRT 42 z ufaT zifT SR AATE 
) Concurrent List () None of the above 

b) Section 42 Cr.P.C. - Arrest on refusal to give 

101. Arrange the following in the chronological order on 
name and residence (c) eRT 41 zE uT ifT - FfE ERT 

the basis of Sections of Criminal Procedure Code- (c) Section 41 Cr.P.C.-Arrest by Magistrate fRTTT 

-Public prosecutor (d) Section 43 Cr.P.C. -Arrest how made (d) ETRI 43 U HthYI HTETT - fPTAT DH 

I1-Special Metropolitan Magistrate 
U-Special Judicial Magistrate 
V-Court of Session 

106. qus fr4T iET, 1973 eTRT 45 TTA 106. Who is given protection from arfest under 
Section 45 of the Code of Criminal Pipcedure, 

IV-77 ITY 
Select the correct answer using the code given 1973? 
below- (a) President of India 
Code 

A6) Members of armed forces 
(a) I, u, 11 and IV Ab) IV, i, 1l and ! (c)fa 3tarN 

(a)1, 1, 1 3TR IV 

() M, IV, 1 3RI 
(b) IV, 1, 1 3RI (c) Judicial Officers 

(c) l, Iv, Il and i (d) 1, IV, and II (d) H TEY 
(d) 1, V, I1 3tRII (d) Members of Parliament 
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107. Match list- with the list-1l and select the correct 110. Permission to investigate into a non-cognizable 110. 374 fa a 
offence can be granted by 

(a) Magistrate first class in any part of India 

answer using the code given below the lists -

List 

(A) Duty to register FIR 

(B) Laches in investigation 
(b) Magistrate in any part of State 

(cMagistrate having Jurisdiction to try the (C) Fauty investigation (C) gd7 
(D) TATE qrderUy } fadora (D) Delay in examination of witnesses offence 

List 
(1) Rajinder Singh Katoch vs. Chandigar 

(d) Session Judge 
(d) H7TTTT ERT 

111. Match list-1 with list-ll and select the correct answer Administration and others 
3/7 from the code given below the lists -

(2) Krishnegowda vs. State of Karnataka 
List-

(A) Equal Justice and Free Legal Aid 

(B) Constitution of Parliament 

(C) Separation of Judiciary from Executive 

(D) Fundamental Duties 

List-

(3) Saidu Mohammed vs. State of Kerala 

(4) Surjit Sarkar vs. State of West Bengal 
(A) HTHT R FJ ats FETUT 

(8) H TO 
Code-

() (A)-1, (8)-2, (C)}3, (0)4 
()(A)-1, (8)-2, (C)3, (D)-44 

() (A-2, (8)-1, (C)3, (D)-4 

(c) (A)4, (8)-3, (CH-1, (D)-2 

(d) (A)-3, (8)-1, (C)-2, (D)4 

108. qu3 ufaT wI eTRT 9(2) aata ya 

) (A)-2, (6)H, (C)-3,(0)4 (D) T 
(c) (A}4, (8)-3, (C)-1, (D)-2 (1) Article 50 

(d) (A}-3, (8)-1, (C)-2, (D)-4 (1) 3gI7 50 

(2) 37T 51A 
(3) 3g 39A 

(4) IE 79 

(2) Article 51A 

3) Article 39A 
08. A Session Judge, under Section 9(2) of Cr.P.C. is 

(4) Article 79 

Code-appointed by the-
(a) (A)-1, (B)2, (C)}-3, (0)-4 

(a) District Magistrate (b) State Government (a) foraT 3TeHTN (b) (A)-2, (B)-3, (C)-4, (0),-1 (a) (A-1, (8-2, (C-3, (0)-4 

(d) 3Rt 
(6) (A}2, (83, (CH4, (D1 
(c) (A)-3, (B)4, (C}1, (D}-2 (c) TATTY T (A}3, (8)-4, (C-1, (D)-2 Je) High Court (d) None of the above 

(d) (A)1, (B)4, (C}2, (D)-3 () (A}-1, (8)4, (C}2, (D)}-3 
109. Match list-I with list-ll and select the correct answer 109. q- 3Tr q-I Tfem feÀ Td 112. Which Article of Constitution provides for 

using the code given below the lists- establishment of 'Goods and Services Tax Council? 
List- (b) Article 270 (a) s 269A 

() 3T 279A 
(b) rga 270 
()3T 279 

(a) Article 269A 
(A) Anticipatory Bail 
(B) Cognizance on complaint 

(A) 3HT97 GHITT (c) Article 279A (d) Article 279 

113. Assertion (A): Right to Education is a (C)Language of Court 
(D) Security of good behaviour from habitual (C) T4 4TT Fundamental Right. 

offender DIRDT (R): TIT TETDIR HTT 3ItBR Reason (R): Our Constitution has no provision for 

List 
() Section 272 Cr.P.C. 

education before making Right to 
(1) ETRT 272 ubAT HIBAI 
(2) TRT 110 FUE UPAT FiEAT 

Education as Fundamental Right. 
(2) Section 110 Cr.P.C. 

Select the correct answer 
(3) Section 438 Cr.P.C. (3) E7RT 438 zVE ufAI HÍfsar 

(4) IRT 190 UE MÍ`UT HÍE (4) Section 190 Cr.P.C. (a) Both (A) and (R) are true and (R) is the correct (a) (A) siR (R) TT R (R), (A) 1 EI 
Code explanation of (A) 

(a) (A-2, (B)-4, (C)-1, (D)-3 
(a) (A)-2, (B)4, (C)-1, (D)-3 (b) Both (A) and (R) are true but (R) is not a correct 

(b) (A)-1, (B)-3, (C)-4, (D)-2 
(b) (A)-1, (B)-3, (C)-4, (0)2 explanation of (A) 

() (A4, (8)-2, (C)}-3, (D)-1 

d (A)3, (B}4, (C}-1, (0)2 
o (A) is true but (R) is false ()(A4, (8)-2, (C)-3, (0)-1 

(d) (A)-3, (B)-4, (C)-1, (D-2 

() (A) T7 TR (R) 3/ 
(d) (A) 3TH (R) HT (d) (A) is false but (R) is true 
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114. vifT 103 TRNTETH 3TIT, 2019 TRT 117. Match list-l with ist-ll and select the correct answer 
14. By the Constitution 103rd Amendment Act, 2019, 

which one of the following Clause was added to using the code given below the lists-

57 16 TST TYT? 

(a) s 16 (4-8) 

(b) 377 16 (5) 

Article 16 of the Constitution of India? List 
Article 16 (4-8) (A) Article 43 

(6) Article 16 (5) (B) Article 42 (A) 31 43 

(c) Article 16 (6) (c) go 16 (6) 
(C)Article 44 (B) 3T 42 

(d) Article 16 (7) (d) 3r7 16 (7) 
(C 3T 44 

() 50 

(D) Article 50 

115. Match list-I with list-l and select the correct answer List-
using the code given below the lists 

(1) Separation of Judiciary from Executive 
List 

(2) Living wage, etc., for workers 
(A) Right against Exploitation (A) 9T fAHG 3eHR 

(B) Equal justice and free legal aid (B) HHRI R AJT faer5HBYAT (3) Provision for just and humane conditions of 

(C) Power of President to grant pardon work and maternity relief 

(D) Seat of Supreme Court (D) 4 IRIITY A RTET TaETA 

(4) Uniform Civil Code 
List- (4) THT fraa ifsaT 

Code (1) Article 39A (1) 37 39A 

(2) Article 130 ()(A)-1, (B)}-2, (C)4, (D)3 (2) 3T 130 (a) (A}-1, (B)-2, (C)-4, (D)3 
(3) Article 23-24 (A-2, (B)-3, (C)-4, ()-1 (3) 3g 23-24 

(4) 317 72 
(6) (A)-2, (B)-3, (C)-4, (D)}-1 

(4) Article 72 
()(A)-2, (B)-4, (C)-1, (D)-3 (c) (A}2, (8)-4, (C)-1, (D)-3 

Code 
(d) (A)-3, (B)-4, (C)-1, (D)-2 (d) (A)3, (8)-4, (C)-1, (D)2 

(a) (A)-1, (B)-2, (C)-3, (D)-4 (@) (A)-1, (8)-2, (C}-3, (D)-4 
B) (A)-3, (B)-1, (C)-4, (D)-2 118. In case of death of the Presidernt while in office, the 

(b) (A)3, (B)-1, (C)4, (D)-2 
(c) (A)-2, (B)-3, (C}-1, (D)4 (c)(A)2, (8)-3, (C}1, (D)-4 

Vice President can act as President for a maximum 

(d) (A)4, (8)-1, (C)-2, (D)3 (d) (A)-4, (B)-1, (C)-2, (D)3 period of 

116. Under which one of the following Articles of the 116. 4TRT 0H TTY HeTA (a) 1 yeaar (D) 3 months (a)1a (6) 3 HIE 

Constitution of India, the Supreme Court has power (c) 2 years (d) 6 months (c) 2 a (d) 6 HTE 

to review its own decisions? 119. Which of the following pair is not correctly 

? 
matched? 

(a) Article 136 
(a)3 136 aShort title of Constitution-Article 1 

(b) Article 135 (6) 4ga 135 (b) Official language of State Article 345 (b) t TIGTTST 3T 345 

(C)Article 137 (c) gr 137 (c) Advocate General for the State Article 165 (c) I 7 HETaT 3T 165 

(d) Article 138 (d) 3g 138 
(d) Constitution of Parliament- Article 79 (d) viTG T T 3FT 79 
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123. The greatest happiness for greatest nurmber is-
120. Match list- with list-l and select the correct answer 

Ja Utilitarian Concept 
using the code given below the lists-

List (b) Realist Concept 

(A) Distribution of Legislative power (c) Positivist Concept 
(c) rAaT 3UT 

(B) Organisation of Village Panchayats (d) Analyst Concept 

(C) Extent of executive power of the Union 
124. Match list-I and list-ll and select the correct answer 

(D) Parliamentary privileges 124. q-R fat 
(D) ierdtu farurfaasr using the code given below the lists -

List 
List List-(1) Article 40 

(1) H 40 

(2) 3g 73 

(3) 37a 245-255 

(4) 31g 105 

(A) Purpose Theory (1) Salmond 
(2) Articte 73 (A)7 fe (1) HTq3 

(B) Will Theory (2) Gierke (3) Article 245-255 (B)1 f 
(C) TH ET 

2) (C) Fiction Theory (3) Ihering (4) Article 1o5 
(D) Realist Theory (4) Austin Code (D) TRai E (4) 3HTE 
Code-

1a) (A)3, (8)-1, (C)-2, (D)4 (a) (A)-3, (B)-1, (C)}-2, (D)-4 
(6) (A)4, (B)-1, (C)-2, (D)-3 

(c) (A)3, (6)4, (C)-2, (D)-1 

(d) (A)-1, (B)-2, (C)-3, (D)-4 

(a) (A)-4, (B)-3, (C}-1, (D}-2 (b) (A)4, (8)-1, (C)-2, (D)-3 
a)(A4, (B}3, (CH1, (D}2 

(c) (A)-3, (B)-4, (C}2, (0}1 (b) (A)-4, (B)-3, (C)}-2, (D)-1 
(b) 1A4, (B3, (C-2, (D}1 

(d) (A)}1, (8)-2, (C)-3, (D)-4 (c) A)-3, (B)4, (C)1, (0)-2 
()A3, (B4, (CH1, (DH2 

121. in which case Supreme Court says that, 'Ownership 121. foy 4H Haa a DET f (d) (A)-3, (8)-4, (C}-2, (D)-1 (d) (A}3, (B}4, (C}2, (DH11 
is pre-eminently a right'? 

125. Which of the following is an exception to the maxim 

(a) P.T. Municchikkanna Reddy vs. Revamma Ubi jus ibi remedium? 

(6) B.Gangadhar vs. B.C. Rajalingam (a) Perfect right (a) 3TR 

() 3yi sftR A)Bishamber Dayal Chandra Mohan vs. State of (b) Imperfect right 

U.P (c)Positive right 
(d) None of the above (d) Negative right (d) RH sR 

(d) gm à 
126. Which of the following is not correctly matched? 

22. Assertion (A): Custom to have the force of law may 122. aaera (A): fAfM 71 a fa eT (a) Law, Liberty and Morality-Fuller 
not continuously be enjoyed. 

(b) Social Control through Law- Roscoe Pound Reason (R): Custom represents common 

consciousness of people, (c) Levers of social motion-Ihering 

Select the correct answer (d) Leviathan-Hobbes (d) afarA - ET 

(a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 127. The concept of Living Law' was expounded by 
(a) (A) 3iR (R) T ¥ 3sR (R), (A) Hi F7T 

which Jurist? 
6) Both (A) and (R) true but (R) is not a correct 

(a) Ihering (o)gef 
explanation of (A) (b) (A) 3t (R) TAi HI f (R), (A) a61 *Tel 

(6) Duguit (b)ufte (c) (A) is true but (R) is false 
Ehrlich (o)Eta (c) (A) HY f (R) 3I7 

(d) (A) 3RT fb (R) TI 
(d) (A) is false but (R) is true (d) Roscoe Pound 
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32. Under which Articde of the U.N. Charter, the 
members of United Nations have agreed to abide 

128. Match list-I with list-ll and select the correct answer 

using the code glven below the lists- by the decisions of the Security Council1? 
List FR 

(A) Principal deposits his goods with an agent 
(a) Article 25 (b) Article 26 

(8) Buyer purchases books from the shopkeeper (c) Article 27 (d) Article 28 (a) x 25 (b) 26 

(C) Owner wearing his watch (C) 27 
133. Match list-l with list-ll and select the correct answer (0) Authors copyright in his work 

using the code given below the lists 

List 
List-(1) Immediate Possession 

(2) Mediate Possession 
(1) 317aT6T Hfl (A) International Day of Education 

(A) 37FTT fzeT feam 
(B) fara yaary fa 
(C) fasa fr6 feaa 

(D) 34-7RTEu HTTHT4T 

(3) Incorporeal Possession 
(2) arafsa 7all (B) World Environment Day 

(4) Corporeal Possession (C) World Teachers Day 
Code (D) International Mother language 

o)(A)-2, (B)-1, (C)-4, (0)3 List-! N) (A)-2, (8)-1, (C)-4, (D}3 

(b) (A}-1, (B)-2, (C)-4, (D)}-3 
(C) (A)-2, (B)4, (C)3, (D)-1 
(d) (A)-2, (B)-1, (C)-3, (D)-4 

(b) (A)-1, (B)-2, (C)-4, (D)3 
(1) 24 January (1) 24 1 () (A)-2, (6)-4, (C)-3, (0)-1 
(2) 05 October 

(d) (A)-2, (B)-1, (C)-3, (0)4 (2) 05 7 

129. Who among the following said that witnesses are (3) 21 February 
(3) 21 

eyes and ears of justice? (4) 05 June 
(4) 05 

(a) Holland (6) Bentham )Eicds b) Code 

C) Kelsen (d) Fuller (d) gR (a) (A)-1, (B)-2, (C)-3, (0)-4 (a) (A)-1, (8)-2, (C)-3, (D)-4 
T30. "Jurisprudence is the scientific synthesis of the A) (A}1, (8)-4, (C-2, (D)3 (b) (A)-1, (B)4, (C-2, (D)3 

essential principle of Law." This statement is of 

Aa) Prof. Allen 
(c) (A2,(B)-1, (C)-4, (D)-3 (c) (A)-2. (8)-1, (C)4, (D}-3 

(b) H.LA. Hart 
(d) (A)-3, (B)-2, (C-1, (D)-4 

(c) E.W. Patterson Keeton N (d) (A}3, (8-2, (C-1, (D)4 
134. What was the theme of World Human Right Day 134. fAza HTaTeraR fRaH 2021 fara 7 

131. Given below are two statements, one is labelled as 

2021? 
Assertion (A) and other as Reason (R). 375e7 (A) 3x HR RUI (R) EI TT 

Assertion (A): International Court of Justice has (a) Woman Right are Human Rights 

power to decide cases on the basis (b) Recovers better -Standup for Human Rights 
of equity. 

(c) Let's standup for equality, justice and human Reason (R): Equity is one of the general Principle of 
dignity Law recognised by civilized nations. 

Select the correct answer using the code given 
7TRUT (R):ITR F II ERI HTI TTI fafe 

(d) Equality -Reducing inequalities, 
(d)HTTA FHH-TATAT AT, 

below advancing Human Rights 

Code 

(a) Both (A) and (R) are true and (R) is the correct 135. Which Article of the Universal Declaration of 135. HT-737rBRi di HIHAT tTUT, 1948 
(a) (A) 3t (R) G-T HU Ë sR (R), (A) zH8 

explanation of (A) Human Rights, 1948, grant Right to life, liberty and 
(6) Both (A) and (R) are true but (R) is not the 

security of person? 
correct explanation of (A) 

() (A) is true, but (R) is false (a) Article 1 (b) Article 2 (b) ga 2 
(c) (A) HRU frg (R) 3FU (c) Article 3 (d) Article 4 (d) (A) is false, but (R) is true () 3r 3 (d) 4 
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140. Who can request the International Court of Justice 136. Given below are two statements, one is labelled as 

to give advisory opinion on any legal question? 
(a) The General Assembly of United Nations 
(b) The highest Courtot Justice of any Nation 
(c) Any permanent member of the Security 

Assertion (A) and other as Reason (R) -

Assertion (A): United Nations Charter does not 

authorise United Nations to 

ouncil 
intervene in matters which are 

(d) Any member of United Nations 

essentially within the domestic 

141. Assertion (A): international Organizations play a 

very important role in maintaining 
jurisdiction of any State. 41. 3AT21 (A}: TRI FTE T a Reason (R): This principle shall not prejudice the 

peace 
Reason (R): Countries have conflicts 

application of enforcement 

and measures under chapter VIl of the differences with each other. 
U.N. Charter. Select the correct answer-

HEI R 
(a) (A) T (R) EAT TR (R), (A}) T Select the correct answer using the code given (a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) 
below-

b Both (A) and (R) are true but (R) is not the 
correct explanation of (A) 

(a) (A) 3t (R) ET F SITR (R), A) a5i T (6) (A) 3TR (R) ET F R (R), (A) T (a) Both (A) and (R) are true and (R) is the correct 

explanation of (A) (c) (A) is true but (R) is false 
(c) (A) HR f(R) XH 
(d) (A) 3TH f R) T 

142. Amfafam TT TaTY 

furai fAfea rT? 

(6) Both (A) and (R) are true but (R) is not the (6) (A) 3t (R) Z HI E Tg (R), (A) *5I H 
(d) (A) is false but (R) is true 

correct explanation of (A) 142. Which of the following executes the decision of 
(c) (A) FTY f (R) FF7 

(d) (A) 3TH f (R) HI I 
(c) (A) is true but (R) is false International Court of Justice? 

(d) (A) is false but (R) is true (a) Military Staff Committee 
(a) TT FHTHT 

(b) General Assembly 
137. Russian invasion on Ukraine violates which Article (b) HEIHH 

(c) International Court of Justice itself 
of the U.N. Charter? 

(d) Security Council 
(a) Article 1 (4) (b) Article 2 (4) (a) 3rTa 1(4) (b) 31T2 (4) 

(c) Article 3 (d) Article 4 (2) () 3T 3 (d) 3Tg 4 (2) 143. Match list-I with list-ll and give correct answer by 
using the code given below the lists-

138. QUAD (Quadilateral Security Dialogue) Summit, 138. QUAD (Tgu TRT HATC) RaR 7I, 2022 

List 
A) Composition of General Assembly 

(B) Composition of Security Council 

(C) Composition of Economic and Social Council 

2022 was held at which place? 

(a) Japan (b) Australia (a) TT (b) 3ivefe (A) HETHHI 1 TO 

(c) Germany (d) India (c)- (d) 4R 
(D) Composition of Trusteeship Council 

139. In November 2021, which of the following has 139. fq-fefRam À fo 2021 H GU 
List-

(D) AT 4RY TO 

launched a new Journal 'Solar Compass' to enhance (1) Article 9 
(1) *TT9 
(2) SHTa 61 
3) T 86 
(4) &gT 23 

(2) Article 61 
research on the use of Solar Power? 

(3) Article 86 

(a) United Nations Environment Programme (4) Article 23 

(b) Global Green Growth Institute (b) fava BRurh frrT T 
Code 

(a) (A)-1, (8)-2, (C)-3, (D)-4 
(b) (A)-1, (B)-4, (C)-2, (D)-3 
(c) (A)-2, (B)-3, (C)-4,(D)-1 
(d) (A)-3,(B)-2, (C)-4, (D)-1 

(a) (A)-1, (8)-2, (C)-3, (D)-4 

(b) A)-1, (8)-4, (C)-2,(D)-3 
(c) (A)-2, (8)-3, (C)-4, (D) -1 

(d) (A)-3, (8) -2, (C)-4, (D)-1 

(c) International Solar Aliance 

(d) Euro-solar 
(d) RHtT 
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148. The concept of "Double Veto' has been provisioned 144. The Headquarter of the World Intellectual 144. faq CT TTOF JaTR Rea 

under which of the tollowing Article of U.N. 
Property Organization' is located in -

(b) afs Charter? 

(a) Paris () Madrid 

(c) New York d) Geneva 
(a) Article 24 (b) Article 27 

(a) 374 24 (b) 3727 
(c) Article 28 (d) Article 29 

145. Which one of the following pair is correctly 
(c) 37T28 () 3 29 

matched? 149. The official language of International Court of 149. 3TriEa q4TTa zTATT () Apartheid Treating all the people as equals 
justice is 

(b) Article 38 of the Statute of International Court (b) st atr 
) French and English ()English and Chinese of Justice Sources of International Law 38 3FPTRIEiu fafe a 

(c) English and German (0) English and Russian (c) Number of Judges in International Court of 

Justice 20 

(d) The Seat of International Court of Justice 
(d) 3Trta qi4 do T T 

150. Match list-l with list-l and select the correct 

answer by using the code given below the lists-
Paris 

List List-146. Which Article of U.N. Charter provides for the 

(A) UNESCo (1) Geneva expulsion of the member state? (A) T 1) 
() 3roe 5 

(d) 3r 7 

12) U.SA. (a) arg 4 

()arga 6 

(a) Article 4 (b) Article 5 (B) 1.LO. 
(B) 3TRI HT1 (2) VIT 

(c)Article 6 (d) Article 7 (C) LM.F. (3) Netherland 
3) Tevers 

(D) 1.C.J (4) Paris 147. Match list-I with list-Il and select the correct 
(D) RIt AATA (4) 

Code 
answer using the code given below the lists -

(a) (A)-1, (B)-2,(C)-3, (D)-4 List 
a)(A)-1, (8)-2, (C)-3, (D)-4 

IA)-4, (8)-1, (C)-2,(0)-3 
() (A)-2, (B)-3, (C)-1, (D)-4 

(A) Article 2(7) U.N. Charter 
(A) 7 2(7) FigaT KT TTY 

(6) (A)-4, (8)-1. (C)- 2.(D)-3 
(B) Article 4(2) U.N. Charter 

(8) 3g 4(2) HigPT KI aTEN 
(c) (A)-2, (B)-3, (C)-1, (D)-4 

(C) Article 33 U.N. Charter (d) (A)-1, (8)-4, (C)-2, (D)-3 
(C)T 33 igi KI T 

(D) 7T 36(3) HyTT KIE I 

(d) (A)-1, (8)-4, (C)-2, (D)-3 
(D) Article 36(3) U.N. Charter 

List 
(1) Admission of a State into U.N. 

(2) Pacific settlement of disputes 
(2) faarei mTi AueRT 

(3) Legal disputes to be submitted to International 

Court of Justice 

(4) Domestic Jurisdiction Clause (4) 81RT 7doRTT 3Y7 

Code 

(a) (A)-3, (B)-2, (C)-1, (D)-4 (a) (A)-3, (B)-2, (C)-1, (D)-4 

(b) (A)-4, (8)-1,(C)-2, (D)-3 (b) (A)-4,(0)-1, (C)-2, (D)-3 

(c) (A)-3, (B)-1, (C)-2, (D)-4 (c) (A)-3, (B)-1, (C)-2, (D)-4 

(d) (A)-4,(B)-2, (C)-1, (0)-3 (d) (A)-4, (B)-2, (C)-1,(D) -3 
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